Date

Name

EB ! Practice B

Muitiply. Write the answer in simplest form.

1.l><§ 2.3x1 3.§><2
6 9 5 8 7 9
4. 18><é 5.i><—Ei fs.Ex—?—‘l
6 24 15 7 8

7. Describe and correct the error in finding the product.

X

8. One-half of your CDs are scratched. Of those, one-fifth will not play
properly. You have 40 CDs. How many of them will not play properly?

ng "_————:4—
6 6

= R

Multiply. Write the answer in simplest form.

9, ZEXE 10. 1E><§)~ 11. 4—9—><1l
2 5 4 21 i0 7

12. 28><8Z 13. Sing 14. 3lx4l
7 12 5 3 2

15. Find the area of the shaded region. Explain how you found the area.

5,
i 4in. | 8'™

in;

~lw

Multiply. Write the answer in simplest form.

3 2 2
18. ixixé 17. 2 © 18 El x(—?’—)
4 8 25 7 7 5
19, E><6~3~><2E 20. lzx12><3% 21. 4~i—><22><7l
5 4 9 8 6 7 5

48 Big ldeas Math Green Copyright © Big Ideas Learning, LLC
Resources by Chapter All rights reserved.




Name _ Date

2 2 Practice B

Write the reciprocal of the number.

1. T 2, L 3. 15 4. 21
12 10 5
Divide. Write the answer in simplest form.
5.§+1—5 6.9+§ '7_2+_2_
g8 16 5 3 9
8. L .12 0. 2.2 10. = 20
15 7 14 15
1. 2.1 12, 18+ 2 13, 8.3
4 12 7 25 5

14. Describe and correct the error in finding the quotient.

050 _ 2
9 27 27

Without finding the quotient, copy and complete the statement using <, >,
or =, Explain your reasoning.

6 9

16, 4+= _7 4 16. 1+2 7 1 17. if ?7 -
7 3 5 10 5
Evaluate the expression. Write the answer in simplest form.
1:8.-1-+5+3 19.8+i+—7— zo_}i. i—i]
5 5 9 24 \16 12

21. How many times larger is a 10-pound dog than a hamster weighing

5
= pound?
3 p

22. A digital camera memory card is %fuil. The card is % full when 375 more
pictures have been taken.
a. How many pictures can the memory card hold?

k. How many pictures were originally on the memory card?
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Divide. Write the answer in simplest form,

1. 31+2i 2. 7’3+1é 3. 4l+22
2 4 4 8 2 3

4. 1()~:—22 5. 16l+14 6. 83+i
9 3 _ 5 10
?’.E+8l 8. 6l+3i 9, 18+4i
4 4 2 4 5

10. l+5l 11. 102#.3l 12. 9§_+5E
16 4 -3 5 9 3

13. Describe and correct the error in finding the quotient.

X slos =B scsxo =B 8
3 3 25 25 5 S

Evaluate the expression. Write the answer in simplest form.

14, 42 oL L 15 105+ 314 4 16, 22+ 34 5%
5 710 2 § "8 5 6 2

17. 40+ 2 %3 18. 22+ Zx 2 19. 554 2L 42
8 16 4 7 3 4 3 712 4

20. 91 x 41 432 21, 4-x32 412 22. 65+ (23 x12
37 2 75 9773 9 4 \"s7 13

3. . . .
23. How many 31 -inch wires can be cut from a spool of wire that is

100 inches long? Will there be any wire left over? If so, how much?

24. A bag of fertilizer that weighs '] 8% pounds can cover 5000 square feet.

How many pounds of fertilizer will be needed to cover 27,000 square
feet? How many bags of fertilizer are needed? Explain how you found
YOUur answer. "
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